1



2.

(x=3)+ (y—-2)i =2+ 5i 5 W=Hst= A5 x, yol tiste] 2x + y 9
e (Fi=v-1)

@® 10 @ 12 ® 15 @ 17 ® 20



3. U AMNFEE ALY
@ 5ix (=2i) x i =-10i @ B+it+i5+i°=0
® V-8x V-2=4 @ V-2+ V-8=32i

® -16 o] AlF +4i



o|J
afl

o

A

O A Al x2 —x +2m + 1 =

4.

® o0

@ 2

@ 3



A x?2 - 6x+k=009]

1:(‘)}7%1 A

17}

@ 3 ® 6 @ 9 ® 36

D1



6. i2=-1002 & ), thg F AFste] 347} H 5 ARGk |

-2, — V2, 2i, -2i
3i, —=3i, 1—-i, 1+1i

@ 17 @ 274 @ 37 @ 47 ® 57



o 3k 7
2-d4z7-1
1 of, 27

l

@ -3
@ 2



=l

—
|



Saa 2o AYlaae 72t (1+2i)z+3(2-2) = 0= W=H3dhe
B A% o5 FolH?

® z=2-3i @ z=4-3i ® z=6-3i

@ 7=2+3i

® z=4+3i



©
=

10. o

31
Il I
(=2] o~
Oﬁo
Al
I
T
()1“3
e\
—~—~ |
N | —
Lix
0 NeJ

® I,

I

II,

v

@ T,



. TR oA ALY SIS A AL AL

4+ 20

o ) : 7(2)3\/51 V6i
4+ 2

2
® )iz2 93V

5 2
443i 3V2 + V6i
5 (2) >

3V2 + Vi

2
22 + V6i
2

@ 122 (@2
b (2)




12, ©J7HA] 22 - 2(k - 1)x + 22 - 6k + 47} vl hste] LAAZAl]
o, A% ko] gto) @ Fateler

D S
=%



@ 1-i ® 1+ @ -2i ® 2i

@ o



St 2)20] AelZ , o) gES Fotolat,



A a=p°"H a+pae8 = L5 Aol
O©a=pLdm, eB=0°Ha=0c°th
© *+p>=0°"Ha=0,=0-0°lt}

ONQ) ® 0.0 ® ©.0
@® 9.0 ® 0.0.0



16.

2
1- V3i

Z

D 1+ V3i

@ 2+ 2V3i

A uff 25 + 3z & 719

@ 2+ V3i
® 3+33i

® 3+ V3i



17. 934 (@ -3)x—1 = a(2x+1) o] 7L 245 7] 98 02 5L
atolat,

D
=%



18. x4+ 1]+ [x— 2| = x + 32 WIS 5] T o2

5 J=X
=%



Aix*+ (1+i)x+1=09 sfE stz (&, x #i)



20. HAHA X2 -2|x -3 =09 29| 2 5tz

5 Rog
=%



N
A
o8
!
i

x
A

@ 2 ® 3 @ 4 ®5

D1



22.

¥ -2x+3=09 F

Fotofet.

D
=%

. (o? - 20) (8% - 28) o F=



ojn

PER

S
—

O x®4+5x+1=0

@O m=0F=49 W, x> —mx+m

PER:!

kel
—

@ k219 x2-2x+2-k=0

® x2-6x+a



24. o0°] old ¥ A5 a, b7t Vavb = -VabE WFL W, th [E7]]
of xof thet o2 A4 F M= o F ALES e 2
AL

H7]

@ ax®*-bx+1=0
© x2-—ax-b=0

© x*+2(a+b)x+(a*>+b%)=0

ONQ @ 0O ® 9,0
ONGNG) ® 0,06,06



25. xof Hich o]2EH A
A Qlo] FAF

it
B
-

x>+ (2m+a+b)x+m* +ab = 0°] m 2] gkl
T2 7HE o, A5 a + b9 G2 Fotofet



